Paper: B.E_B.Tech
Set Name: |Iltem29
Exam Date: | 27 July 2022
Exam Shift: | 2
Langauge: |Odia
Topic: Mathematics-Section A
Iltem No: 1
QL{estion 100401
ID:
Question
Type: MCQ
—_ a1 _1 2 _ 2 _ e L3 < ”
Question: | J®¥) =sin” [2x* —3] + Iogz(log%(x 5x + 5)) (69Q0I6Q [t] M@ YRS YIASI TRR)
TREQ AR 26T :
N [5 5-5
27 2
N 5—-45 5+45
2 72
(. 5—45
C: e —‘/_
\ 2
_ (. 5+45
D: T, &= ——.
N 2
Topic: Mathematics-Section A
Item No: 2
auestion 100402
Question MCQ

Type:




6Paa MG (o, B) I, T < a, B < 27 S 1@ 698 QI A Qg Qe SN g Qg
1+ 2i sin
SO , l+icosp ~ : . 7 —sin Doti 5
Question: @Rga@ QG 99 m ¢ QA QB QI AT | AXARX Z, g =sin 2a+i cos B,
. 1
(o, ) eS| 6068 D, [32045 + 5 ] aqug |
(c, B) «S Fop
A: 3
B: 31
C: 1
D: 2—
Topic: Mathematics-Section A
Item No: 3
Question
D 100403
Question
Type: MCQ
- 1 2

Q@ AM1eed 2 _ (5 4 3vlossd | 5ylogs3) _3(3(10835]3 _5(logs3)3 | _ g @ gedied o, B
Question: 5 i

6P6Q ao + E QB+ — @ 62easl AMRNET 26S :

(4

A: 3x2—-20x—-12=0
B: 3x2—10x—4=0
C: 3x2—-10x+2=0
D: 3x2—-20x+16=0
Topic: Mathematics-Section A
Item No: 4
Question ID: 100404

Question Type: | MCQ

Question:

4
6@ A = [

o

BJ | Q@ AZ+rA+18I=0 6069 det (A) QAR :




A: — 18

B: 18

C: —50

D: 50

Topic: Mathematics-Section A

Item No: 5

Question ID: | 100405

Questi

T;pe:: ion MCQ
7 —

- ~ v Yp(729 +x) -3 o~

Question: | @ p#q #0 IR IRY f(x) = x=0 0l6Q FARER 666Q :
3729 + qx — 9

A: 7pqf(0)—1=0

B: 63 q f(0)—p*=0

c: 21 q f(0)—p?=0

D: 7pq f(0)—9=0

Topic: Mathematics-Section A

Item No: 6

Question ID: 100406

Question Type: | MCQ

Question:

IR AN :

2
2 | f@dx=12
-

BU6Q :

aA6RQQ f(x) =2+ x| =[x — 1| +|x +1

o A3 -

;xeR




A: Q9 (S1) 9e° (S2)0 |
B: @@ (S1) 98° (S2) 9 |
c: 6@Q% (S1) 0% |

D: 6299 (S2) OR |

Topic: Mathematics-Section A

Item No: 7

Question | 190407

Questi

T;pees: ion MCQ

rlenatl @ a4l gedlia 69€l1 Il dayl d@ a \9Q° didadl 2dqdle r YLl g 5 6T |

Question: | ¢I6@@Q gl & 695 dea A % | 6069 Y@ 4AISQ 6g6l, dITIQ a9l de 10 ar, n 9¢ d@

a, 9° ARG 2_R 10 ar® 26E, GIRIQ GaF 21 & Aeq T 260

A: 21 dqq

B: 22 all

C: 15 dqq

D: 14 Ay

Topic: Mathematics-Section A
Item No: 8

Question ID: 100408

Question Type: | MCQ

Question: Qg y=4x2, ¥2=9%y &° y=4 QIQl UK 6FFA IR AR :
A: E

3
B: 5_65

3




c. 112
3
D: @_
3
Topic: Mathematics-Section A
Item No: 9

Question ID: | 100409

Question
Type: MCQ

2
. 1 o ] <
Question: f “212 - 3I| + {I - ED dx Qi@ (69Q0IER [t] IR AR YA TRR) :
0

A: z
6
B: E
12
C: 3_1_
12
D: E
2
Topic: Mathematics-Section A
Iltem No: 10

%feS“O” 100410

Question
Type: MCQ




a1 CI96q @Fe 9@ REA y=y(x) § FOIRQ AR | F68AQ A; Q 68FTR A, TR
QRS | 6069 2@ oA B 628l 2x—12y=15 g& AR 6adI5 1@ g Ml 609 O AR AT |
64 QRG 269 :

A

Question:

y

Ay
2 A4
I N

O 4 -
A: (6, 21)
B: 8, 9)
C: (10, —4)
D: (12, —15)
Topic: Mathematics-Section A
Item No: 11
Question
D: 100411
Question
Type: MCQ
Queston: | @ 9% ABC @ QI AB, BC 99° CA @ Q9100¢ g&@ QaQea 2x +y=0, x+py=>39 9

L x—y=3 1492 92IQ 9%8 6aQ8 P(2, 3) 26T | 656Q &%) FRIQ 6RRET 4G 6L ?

A: (A‘C)2 =9p
B: (AC)2 +p2=136
C: 32 < 689w (AABC) < 36
D: 34 < 689dw (AABC) < 38
Topic: Mathematics-Section A

Iltem No:

12




Question

D 100412
Question
Type: MCQ
NG Q@ C, F8eQ O rICeR 66 A6a Ie° x-28Fa YBAAR 6T Y21 QU 4 | 606!l y=2x 9@
Question: | C; @ OA QIR 99 fl &4 | A6e9a C, Y@ 9@ JIFIQ QA OA | 4@ @9 A Ola 9a C, go
GO R x-2A9Q P 0I6Q ¥Q° 1-23q Q 0I6Q ARG 24, 6569 QA : AP QIR :
A 1:4
B: 185
C: 245
D: 143
Topic: Mathematics-Section A
Iltem No: 13
Question
ID: 100413
Question
Type: MCQ
Question: Q@ (a, a) FIE &A1 9@ AIAUCRIR, QAIRQ S1FEQ OI6R AFRT 266 x +y=a I 6T 6ARTAR
| 6Q6M 16 26T | 6969 |a| QAR :
A: .02
B: 23
C: 4.2
D: 4
Topic: Mathematics-Section A
Iltem No: 14
Question
D 100414
Question
Type: MCQ
- x+1 ¥ —3 z—=1 - ~ e
dQ 6l . - s g g QU6x @Q P(a, 4, 2), a > 0 0l AGS AR 6964 2.6 a9
Question:

3
263 e @] Q(ay, oy, @) M€ 60GIER @Y P @ goan @1 949, 6061 a+ Y a; AR :
i=1




B:
C: 12
D: 14
Topic: Mathematics-Section A
Item No: 15
Question
D- 100415
Question
Type: MCQ
Question A% QAR ax +by=3 9&° ax+by+cz=0,a > 0 Q gP6RY 6T AMER y—z+2=0 A2 30°
u on: - - -
66 QIR Q6Q, 696 AITR @K 6RIRYl (des) &SR -
1 1
A: —, —, 0
V27 2
. 1 L o
) r r
27 2
1 2
C: , = )
NG
o 1 3
| g
Topic: Mathematics-Section A
Item No: 16
Question
D- 100416
Question
Type: MCQ
F1609a X Q @de 94a B(n, p) 998& 64 X @ aluAie (Ax) ¥e° gded (aUddlg) @ Aad e
Question: _ K
QEITe JaIRes! 24 4@° 128 | 4@ P(X>n—3) = 2—n, 6R6Q K Qela -
A: 528
B: 529




C: 629
D: 630
Topic: Mathematics-Section A
Iltem No: 17
Question ID: 100417
Question
Type: MCQ
@ d9dIeT 22109 QA @9 641G UG 64 3x P (4@ 64179 d°8ul) =6 x P (M@ 6dIde Qo)
Question: =2xP(1) | 96809 X 9@ 998 98 JIgI RY6ITa 6Idgl AAUER 9@ QEIAFY Fgaal Queig
gPe @Qf | 18 Qe 6aITq 2 2Q 6Tl MIRRIN, 696Q X Q AIRIAIR 26T :
A: T
11
B: i)
11
C: R
11
D: ey
11
Topic: Mathematics-Section A
Item No: 18
Question
D: 100418
Question
Type: MCQ
QII6Q 9@ gRR 10 Qo6 384 A PQ @ a1d P 0I6Q 998Q 3¢ A 09 6a1de R 45° 260
| 96999 R, AQ 2962 9@ 89 99° R d6a O0R A QIR 891 9@ §Q B 0Ig #Ra 419 P @
Question: - ~ - —~—
6Rl8@ @ae 60° 266 | g4 |BAQ =30°, AB=d 9&° QI8¢ PQRB @ 63QCra o 269, 6969
26Q 621 (d, o) 269 :
A (10(+3 - 1), 25)
B:

[10(J§ -1), 22—5)




c: (10(/3 +1), 25)
25
o [mug +1), _)
2
Topic: Mathematics-Section A
Item No: 19
Question ID: | 100419
Question
Type: MCQ
'rr 2 T m1r 8
Question: 1eeer S= 4106 e(l’_}, —) - Z sec[ﬂ + (m — 1)—}5@:(8 + —) = — —: 6069 :
2 . 6 6 J3
m=1
A S— {1]
12
3
C: 8= E
Be—s 2
31
D: b= —
HZ 4
5
Topic: Mathematics-Section A
Item No: 20
Question
D: 100420
Question
Type: MCQ
Questi 9G @8 (P A (~R)) = ((*R) A Q) @ Aa4I9eY (gel ea) ey F 2166 | 6669 G frig QI2Q ge|
uestion:
amy F aes ?
A: PvQ-—-~R
B: RvQ—-~P
C: ~PvQ)— ~R




D: "‘"(R W Q) — ~P
Topic: Mathematics-Section B
Item No: 21
Question ID: | 100421
?ue§tion Numeric Answer
ype:
o B ¥
9@ a8g A=| o> B®  y1 | Q801 99 | o B, y FIER QIR AR a1 9F
p+y vyta atp
Question:
det(adj(adj(adj(adj A))’ . bl
( 16]( }( jl(é. J ))))1 — 232 316 6QEQ 9LUQ 3 -9gML (a, B, ) @ LGl 26T :
(&=—PF” —" (g —al”
Topic: Mathematics-Section B
Item No: 22
Ql{estion 100422
ID:
Ques.tion Numeric Answer
Type:
Quest 649 A={xe N:x2—10x+9 < 0} @ 625 B={n?: n e N} g0 I9% 62028 | 6JdG@ f(x) <
uestion: :
(x—3)2+1 (Y69YR x € A UIR) 6069 TP S 26T |
Topic: Mathematics-Section B
Item No: 23
Question ID: | 100423
Question .
Type: Numeric Answer
. ~ : G ' 3 w < °
A6R@Q (3 +61)" QUOQ JUIQEER b6x @ @@ WIER 9 Q¢ dW, x = — dIg dRj@ 6991 dIFl,
Question: 2
n Q 496 al ny 263 | 98 1° Q 926 6 17 Q 2GR AFAIS k 26T, 6669 k+ny= |
Topic: Mathematics-Section B
Item No: 24
Question ID: 100424

Question Type:

Numeric Answer




23—13+43—33+23—13+63—53+43—33+23—13

— = : + -+
1% 21l 3x15
Question: _
30° —29° +28° - 270 + .+ 2° -1 |
15 63
Topic: Mathematics-Section B
Iltem No: 25
Qgestion 100425
ID:
Question .
Type: Numeric Answer
4R ASCIRR 2P 4R 98 IR JFY 6N IR YIFIQ AW YRR 1° J19Re Y ARy AT |
5 . 13 = 5 2 2 pE
Question: | JEI9 6261 QR 61 tan 11 260 | 9@ 49 2e6a 24i1gd 6 (F99)° ald @ IFea
QLRICAI, 6UEREER TIFER CIFR TIRNIQGI 4 {99, 61606R6R CIFQ BQl 62adel A7 JITRA
Q6 219 A9 9O WACRER 26T |
Topic: Mathematics-Section B
Iltem No: 26
Qgestion 100426
ID:
Question .
Type: Numeric Answer
Question: | 73 C: @2+12-3)(x2— 12— 1) =0 AR, 29 C aU6Q 39 (o, a), a > 0 0161 3y' —1Py" @ g
L |
Topic: Mathematics-Section B
Iltem No: 27
QLfestion 100427
ID:
1Q_ue§tion Numeric Answer
ype:
A6e@a f(x) =min{[x — 1], [x —2], ..., [x — 10]} 699061 [t] 9@ AFRR GIA&U TR
Question:

10 10 10
265 | 6669 [ f(x) dx + [ f(x)* dx + [ f(x)|dx |
0 0 0

Topic:

Mathematics-Section B




Item No: 28
Ql{estion 100428
ID:
_?ues.tion Numeric Answer
ype:
2 3 5
F6RRQ f 2ARRIRIE DRR QIR f(x) = ff dh, x > 0 99° f(1) =3 @ A8 Qca |
Question: 3 5
Q9@ y=£(x), % (a, 6) F1&l 6O FTNEQ, 6PER «
Topic: Mathematics-Section B
Iltem No: 29
QL.Jestion 100429
ID:
Que§ti0n Numeric Answer
Type:
2 2 2
J x y _ — < < <
Qg Cy: 2o =199 Cy:— — = =1 ¢g& 9@ QI 242 T 98 de (QeId) Al
Question: 4 ) Az L
6O T Q6RRIR | UG T @@L (xy, yy) Ol6Q @ C; @ 9° @@L (x5, ¥5) O8R! @@ C, @ Qg Q69
6069 |2xl+x2| = |
Topic: Mathematics-Section B
Item No: 30
Question | 190430
1Q_ue§tion Numeric Answer
ype:
- =2 5 - = = —
68 a, b, ¢ GRGLIT IR AORER SIS FAQl GaIF TR a ¥ b =4¢,; b ¢ =9a
Question:
— — — w2, = —> — 1
‘QQOC)(a=rxb,a>0|g@|a|+|b|+|c‘=%,6@69a= |
Topic: Physics-Section A
Item No: 31
Ql{estion 100431
ID:
Question MCQ

Type:




, 48 90Q u = Esin[“—xJ 9Q° o, B GO, ¥ QUAR, k CRIPINIR FLAOIT 9G° t FITAIG €L6R
Question: B kt
B Q YT 6960 629 ?
A: [ML2T 20— 1]
B: [MOL2T —2]
C: [MOLOTO]
D: [MOL2T0]
Topic: Physics-Section A
Item No: 32
Question
D 100432
Question
Type: MCQ
QLI Galg 45° 6@Igea 10 kg @ @gq TeoR | Q@ (20, 10) 8g 0@ @ga da (Q16eqQ)
Question: | 910 @69, V1A AERT AGE A t= % 6Q 689 |
[g=10 m/s> T = QI8 A7Q]
AN M
A: 100+ (100+/2 — 200) j
: X -
B: 10052 i+ (100 — 200~/2)
. g 2
C: 100+ (100 — 200~/2) ]
. i g
D: 10082 i+ (10042 — 200) ]
Topic: Physics-Section A
Item No: 33
Question
D 100433
Question
Type: MCQ
Question: PR 69060 M 9299 QR Seg R0 OREA 997 ILR | AINT 0F YATIBA 26 AL 0 ERCER

g6R, FRCIQ @ (24 99) @ ARG 6963 629 ?




A: Mg

B: Mg cosb

C: \/Mg sinf +Mg cosf

D: Mg sinf /1 +

Topic: Physics-Section A

Item No: 34

QLfestion 100434

ID:

Question

Type: MCQ
30° 6Q16l ARl ARG 99 (RAYARL, 697) Q S NG QR ‘A’ @ 25 AEH | AT RQ WAL T’

Question: | MQ° 92 Q@ QAR v’ 6RCEQ AWAG. 96 QA RF 6 AWIKRE | AT G PR 6RIE 45°
QAULN, 9RG 0RF AT AU 660 AL 65 ?

A: 2.66 s

B: 0.83 s

C: 1.68 s

D: 0.70 s

Topic: Physics-Section A

Item No: 35

Question | 100435

Question

Type: MCQ
9@ QIO A6 4 cm JFGIR A6Q YR 696 JIAER 60 IR QVT1AIE QRN | UG gOsUT

Question: | @@ @@ B2l FRQ RIER PR ALY AQE 6a1R AR, 6962 FAT (4+1) RIER R NP6
Qe §Q 291 x Q g 629 :

A: 2.0

B: 1.0

C: 0.5

D: 1.5




Topic:

Physics-Section A

Item No: 36
Qlfestion 100436
ID:
Question
Type: MCQ
m Q@YY 1@ @gQ A v, 6°96Q YIIQY QR g e OGSl | v, A8 dRITE 636 9e°
A <129 @2l Qlg, g6l a9iey QAN 6961 NN QI 019 690 ASRIS izl
tion: s SR
Question: | can af @ae Gl caal :
(R : QA1 QUIQAIS)
R
A )
1+A
R
B: 3
1—A
C: i
1—A
2
D: A"R
1=K~
Topic: Physics-Section A
Item No: 37
Qgestion 100437
ID:
Question
Type: MCQ
32m aQ 4@ 919 (Y,=2.0x10"1 Nm~2) ¥8° 44 m @ @dQ @19 (Y.=1.1x10"' Nm~2)
Q@ (9q (899 6dIgIdRl | geeia Q1o 1.4 mm QAR 26T | 99 eNlE QR G4l Fem UQ QASEAS
Question: | @ 1.4 mm ‘Gﬁ‘ﬂlﬂ, EREY QIR eMle ULLIQ @AW ?
22 . s
(= 7@?" dIwe 1)
A: 360
B: 180
C: 1080




154

Topic: Physics-Section A
Item No: 38
Question
D: 100438
Question
Type: MCQ
geq QuIeeq IR RI6RIe Q@@ 300 K ¥&° 100 K QI9aIgl a6 QINIRer | @019 QuIe6,
g6 Q2 IMITA Qa6 ABRY YR QD IR KAl dMl | @ YR &R (To1d QaIR) Q
@Al LR :
300K
Question:
200K
&)
nd C
100 K 27006
A Jder @R, 9 QIR 629 |
B: e A Olg 49T 2K 689 |
c: e a@a 01 AR Q¢ 62% |
D: gelel ‘E.l@‘?ﬂ YERIERN G;"E-:“ el Y9Ik diwdlieal |
Topic: Physics-Section A
Item No: 39
Question 100439

ID:




Question

Type: MCQ
g 22 Ger (YeaoIa Gg)1) FNER 699 RIS A 26 ?
(A) n @91 AT Ter AR 2GR n? O} AR F8 AL FACLQ |
= = & % i
(B) g6oi@ @gl A Genl 5 RT 2Qi2ia 9o 67lin 43 A2 @G0 |
Question: L L . L
(C) <@ dQclg S6i) I 2gea 69lIGN @91 gae Jer 2N 6969 @ §-aaslg auIq a1gea 2
3g1 qde Geq (QrNas!) and |
(D) CH, 6 Q96916 6 & @91 2 Gae a@a |
G0 99@ 98 9eeq 90Q @@t oda @ |
A: (B) ¥9Q° (C) 6Qe@
B: (B) ¥@° (D) 6@ew
C: (A) 9Q° (B) 6@
D: (C) 9@° (D) @@
Topic: Physics-Section A
Iltem No: 40
Question
D: 100440
Question
Type: MCQ
Question: 4 pC Q9] QR AIEA USRI | QI 62IFAR QIF Y4 FRIER FL8 YAY A2 6062 FIF ARCIE
| 6960 626@ 9F, OIF FRIEA SRR AFCIS ALIPELS ?
A: 1 nC 9Q° 3 pC
B: 2L 2972 pll
C: 049@° 4 nC
D: LB s e 25 pc
Topic: Physics-Section A
Iltem No: 41
Question ID: 100441
Question MCQ

Type:




A) dAQIZIQ QUG RPER ARG AR S, 699l QA AN |
B) @Y.690 da9I121Q AIJ9Y 699TR A2 Q JORIAIQUIE 263 |

C) @Y 696 9RQIQEa J6aid 621029 F08a ATER F98 MR A% |

(
(
(
(

Question: ) _ _ _ _
D) @ 690 doRIela @i 42 geemldligdle |
(E) @q 699l 9QQIRIQ QIIAIgl 9F 626m, 9F aid |
¢ 998 Qaegee g A0R ARG 9U9F A |
A: (A) 4Q° (B) 62Q@
B: (A) 9@° (D) 6Q9@
C: (B) 9@° (E) 6@@@
D: (B) 4@° (C) 69w
Topic: Physics-Section A
Iltem No: 42
Question
D 100442
Question
Type: MCQ
30° @91 @9% 6ald (@) a9l 9I9 P 61 FI6g6TINITR 6217 @Q «flq fem 20 da dag dal
Question: | 62198 @68 | 284 AR Q 6Q 6°UK0 @4 60° 266, 6Qlee Aal FFe del 10 62U | ARE!
AR AFEAIT AR 689 AU (Bg : Bp) ?
A: \/E - 4
B: 4:3
C: 325
D: 2:3
Topic: Physics-Section A
Iltem No: 43
Question
D: 100443
Question MCQ

Type:




61909 Q80 209 AT AREYCR, MeLe 29 | 9T ALY QAR 68G 1.0 T I ARERITR &

Question: | (9®) @ QUAIF 60 cm 24, QAG 67IFAR PR 98 MeV 6Q 629 :
[24921Q @@ : m,=1.6X 10-% kg, e=1.6x10"19C]

A: 12

B: 18

C: 16

D: 32

Topic: Physics-Section A

Item No: 44

QL{estion 100444

ID:

Question

Type: MCQ
4@ 684198 LCR d@g6a L=0.01 H, R=10 Q 9Q° C= 1pF 269 99° 98I1Q 50 V 2Igiq 38|

Question: | a¢c @2 AL 64611 L6 AR | EQAERIERE Ell‘a;@ (2eqla Ell‘a;@) Q 60% @¢| RII‘E;Q?E;Q, PEQELR
AIIFl 6R6C 629 ?

A: 466 mA

B: 312 mA

C: 238 mA

D: 196 mA

Topic: Physics-Section A

Item No: 45

Question | 400445

Question MCQ

Type:




S0 919 (EM) 0o g I Age G6qie QIig 20 2ade QI |
(A) 698 (EM) 0Qereq Y40, 689 92 A 698 Jo9a OIQ AFERIFER J6 6271 QIR 9e°
G GIRTG FQUQ €Y GT6R 2Rl QAR 688 STl |

B) (EM)9Q@Q 48 AR Q168 SQ40 699 92l QAx 63Q6Q FRIFS 621l |

(

Question: < - -
(C) TQQ 689 92l QAR 68Ig JRAR 0If AAILR IQ° AR JOTG Ol AACRISIER QLT |
(D) Qe 689, 9A% 680 I8° WA 96 @6 Joda OIf AFERGER QEgeld |
(E) Q7@ 6399 2Igif @2l GQ4e 639 IR RS ZIERIRA 696 A2 AR 26 |
A6RIgE AR T |

A: e@a@ (D)

B: (B) 4Q° (D)

C: (B), (C) @° (E)

D: (A), (B) 9@° (E)

Topic: Physics-Section A

Item No: 46

Ql.festion 100446

ID:

Question

Type: MCQ
1:4 91901 29I 2Rl @R% anl AR (6RI26AE) T A NLIAE AR | UG I8 MORASER

Question: I T s o
max T omin _ 20t 1oy cosq = gan eee
Imax = Imjn B + 3 B

A 1.5

B: 2

C: 0.5

D: 1

Topic: Physics-Section A

Item No: 47

QL_Jestion 100447

ID:

Question MCQ

Type:




671691 REAG.R 26T, (AenR FYe gAIR) @ Adieedq A0k K2R e QI8 |

(A) AR 629Q G (T6S1 REAYR TIN) ANFE ACARR AIGE A2 6TYR NER FVER |
(B) 670IM 999 MIAC 999 909 66w AIPEAAR, (ABF) A6aE Q& I |

(C) 660! REAY AR AIS o068 98, ARG A2 LED (26AIR F504 Q16019) Q6a7.

Question: QACIQ 919 @em, |19 A |

(D) &F16IR 99 GORSR 6160 R6RY.A0 e8] AR 28l A (679R)/AQH0 AR
QoG QA IPEYR XA 9IF |

(E) 626Qiq oo 63dia 21980 2enea 9dal dd /EM 0qet QIal 968a 629 @lFl |
ARG FRegeaq 20K Q9T Qg |

A: QY@ (A) 9e° (B)

B: e@aw (A) 99° (E)

C: c@ae (C) 9@° (E)

D: e@e@ (D) 9@° (E)

Topic: Physics-Section A

Item No: 48

Question

D 100448

Question

Type: MCQ

Queston: | @ 606 AGC 2R AIRAT 6.4x10-4 Q43 | YRIQ AG F1OR 5 OF | 6REL @7 T6Q IR AFES

| 5x10-6 Q& 6gIQde ?

A 7 @@

B: 15 days

C: 25 days

D: 35 days

Topic: Physics-Section A

Item No: 49

Question

D 100449

Question MCQ

Type:




4R P68 Q6AQA - AR 8 V 6aINESR, dIn S1B90Q R6AQQ @699 4 mA § 6 mA 62T,

Question: | 6UERR 699 @6QE 20 pA Q 25 pA 62RI | FIFFST 2Fe (ARA) W6 26w, 6819 RN
R60¢ e (AR)/(esee adedle IQYR) 629 :
A: 240
B: 400
C: 0.0025
D: 200
Topic: Physics-Section A
Item No: 50
Question
D 100450
Question
Type: MCQ
dgae dRIa Q6 PG 9G6Q A4ILINS | MIRYUQ GG C(t) =5 sin(8 wt) 6QIR, 626M AIFAR
AR (gola) 6a60 629 ?
-~
Question: 1
m (t) .
inVolt| 05 1] 1.5] 2| 25 t
A: .2
B: 0.1
C: 0.3
D: 0.4
Topic: Physics-Section B
Item No: 51
Question
D 100451
Question

Type:

Numeric Answer




ae QaIF AR INAGER U8 9] A2 Ga @ (1,2, 3,4, 99° 5 m) g AL AGYS
(2 mm?) 3849 QIQ QUSRI 9&° G - 6AIP A SYITR | 91 @ 61D (RAGI/6AIR) QRN QR
A7 690 699 I FRA P6R QFAULINE | gFIER IR AT A9Rd ¥ x 10! Nm-2 6g6q, ¥ @
amy 689 :

t‘l\l
=
b4
Question: 0
o
==l
X
o
.% o
5| 8
2 —
=
Topic: Physics-Section B
Item No: 52
Qgestion 100452
ID:
Question .
Type: Numeric Answer
AoQ @8, aIBE6R MERG° @R AC diel g G6gR SINNIERIFATRR 40 cm 0I6Q F6R | A&
AB QI0Q QUQINQ Qg8 KA, QUERF AR cm 629 |
5V
I
Question:
R, R,
A C B
Topic: Physics-Section B
Item No: 53
Qgestion 100453
ID:
Question

Type:

Numeric Answer




6° 6RIEAS! IOR RS, AITIR RGN RN JIAREIPF ny=1.5 § 5° 6218 3FF ny =155
Jae a2 6dIgl aRl | NE Q°ealelg @A9de, gRel 6919l dinl 6eRl 9F | 9@ 67T 2RI2A OS!

(60eqaR) & @ g G) 29, x Q gAY 629

Question:
Topic: Physics-Section B
Item No: 54
Qgestion 100454
ID:
Question .
Type: Numeric Answer
— ,3 ra 2 A s o -
Question: QAQ@ 689 B = (St‘ j + 3t k) QPER X - Y 676 Q@I Mg Wit | 4@ R IS 1m
J@© t=2 s CQE 6@@@ emfn'rrvgﬂ,nfaﬂjﬂl{ 699 |
Topic: Physics-Section B
Item No: 55
%feStiO” 100455
Question

Type:

Numeric Answer




0R6R TU 62IRRRl ARG, 63F 6906 (FQ 2RWER) x10-6 C QIf ¢@%
6YQ :

E=10V

——] MWW

Question: el
R=100 2
- AMWWW————
C=11pF
R’=200 )
Topic: Physics-Section B
Item No: 56
QLfestion 100456
ID:
1Q_ue§tion Numeric Answer
ype:
4 cm 9RQIQ ATIBA 69F ARG IR WL 8 cm G2l 6¢F QA NRUIF 4 mm § 20 V
MIeLQUIER ISRl | 5 E]QI@@_LI@I"G-? @2 1 cm @, 4 cm 98¢ @8l 4 mm 6769w &lQ ﬂﬁl@@ﬂ{{
tion: ~ ~ A A =

Question: | i 6@ g AB6a aEieRl | 1@ A9FQ B9 918 69 e, ] 629 |

(Where ¢ is the permittivity of free space)
Topic: Physics-Section B
Item No: 57
Question | 490457
Question .
Type: Numeric Answer

QR0 PG 6T YA &I 30 cm AR GI9Q nth @2l (n+1) 9F TUREAIRR A2UKFEA 400 Hz 9e°
Question: | 450 Hz 6Q 288 | 9@ Q10Q @@l 2700 N 24, 0I'Q 654e 999 a9l kg/m

e¥Q |
Topic: Physics-Section B
Item No: 58
Qgestion 100458
ID:
Question

Type:

Numeric Answer




6 cm QYA 5] AR 6TICA EG6R AN YR 3 cm MIAS FI} AN ARER 6T I/

Question: | 62RI | 9& 3 cm QUIAIF 2RI 68IF 6TITAIR 2AIRAR V1Y FAARR! AFAER, UM IR ARG AR
6TISR QIR RUIAIR r Q ARER 19 AL AR 2, r Q YA 666 629 ?

Topic: Physics-Section B

Item No: 59

Question | 490459

Question .

Type: Numeric Answer
@ 49 dRdaq 9pt 999 917 GIa AIRINIER TE6R QEITRI 98 9@ AR IR MRS |
diefde 2R cm QEQe AA9E 9IQ 6dIRSl 6alg ¢dem, o'Q @@ 4 ms-!
622 | (g=10 ms2 G&)
LLLLLLLLLLLLLT

Question:

T v T

Topic: Physics-Section B

Item No: 60

Qgestion 100460

ID:

_I(?ues.tion Numeric Answer

ype:
g6 FEM IR 9E6 dIRe ORq AWICIRE | 45° AIAe 2l Y8R UIF6Rd A § 9@ 9Rq Il
ARR. FI6R 61687, AR 64 YRS 10 m KPR &9 B 85 N de8ml | I 6 el 2y 30°
2190 648 BC 6 ¢d C oN4Q t AAa6a d28al | A oNdg CQ dal AR 98 & t(V2 +1)s
QY 6Q6M t @ @Y 629 |
(g=10 m/s? §2)

Question:

B

45°




Topic:

Chemistry-Section A

Iltem No: 61
Question ID: 100461
Question Type: | MCQ

Qe AT FRGE A6 ITE 98 A0R QAT 69LT :

(A) n=3,1=0, m=0
| (B) n=4,1=0, m=0
Question:
(C) n=3,1=1, m=0
(D) n=3,1=2 m=1
Q608 GREgeaq 40K Q895 9UR @9 :
A (D) > (B) > (©) > (A)
B: (B) > (D) > (C) > (A)
C: ©) > (B) > (D) > (A)
D: (B) > (C) > (D) > (A)
Topic: Chemistry-Section A
Iltem No: 62
Question ID: 100462
Question Type: | MCQ
QIR I g QIR IT 93¢ Al :
QAR I Q@ II
(A) dpo=w, —bp () Qerq a1gs
(B) pn=Qxr (1) 2PN &g @8R
Question:
Ny, — N, ~
— 7 (1) [UARRET 2§ R
(D) lhwm=ll}A +¢B (IV) Q@@ ¢
P6qIe YR89eRq d0R 9ees 9Ue Q9 :
A (A) - D), (B) - ), (C) - V), (D) - (1)




B: (A) - (1), (B) - (IV), (©) - (1), (D) - (1)
C: (A) - (), (B) - (I), (©) - (IV), (D) - (II)
D: (A) - (1), (B) - (IV), (C) - (1I), (D) - (1)
Topic: Chemistry-Section A
Iltem No: 63
Question 100463
Questi
T;Jpees: on MCQ
gde NH,OH 80862 4@41a1 2, HCl @ 999 6015Q 2gaas 6adoes @ad cedlds :
pH
7t
™ ] \
0 yolume of acid
pH
7 =
. T /
0 .
Question: volume of acid

pH|
(€) T7 \

o 17

volume of acid

I

U volume of acid

678 GREgeaq A0R LG PUR A :




I

A:
0 volume of acid
pI—I
B: T? f
0 volume of acid
pH
C: T7
0 yolume of acid
pH
D: T J;,r_
U volume of acid
Topic: Chemistry-Section A
Iltem No: 64
Question ID: | 100464
Question
Type: MCQ
6 @6 @8 QRS |
@@ I: KIaQ Agead J6Q 1IN 98Q120 0194 QI of and |
Question: 3 o _
Q@ II: G’.’IG@I@Q 2t din Y@ de 671nR Qe &J6Ql 69 ‘E:f-? g |
QUEAB @@ ARIACR A0R AWATY FY R UL |
A: Qg 9@ I 9e° @& II OR |

Qe 98 I 9e° 8 II 9 |




c: Q8 10@ @3 3 I gm |
D: o8 1gm @3 @8 11 0< |
Topic: Chemistry-Section A
Item No: 65
Question
D 100465
Question
Type: MCQ
Q76 9RF @@ QRIKIRE | 6010 6RIE (A) e° AT RIRE (R) 9168 096 QAUAIRE |
QEFIB (A) : PAP L6 LIYE AR UG QN FFIUG TR HOR 6N AR ANELR |
Question: | QIa&l (R) : Y0 9996Q RERAIYER 9708 RITE €0Q 69R URAIFER Ak 7 AR QAR 9o
AIQAAER |
QUEAUR QE ARIAER A0 AR AR 7 FREQ AR :
A: Q@@ (A) 99° (R) 0K, (R), (A) @ A0R QuIYI |
B: 299 (A) 92° (R) OR 9<° (R), (A) @ 40K SuISl @_6‘5 |
c: (A) OR @ (R) g |
b: (A) 9m @g (R) OR |
Topic: Chemistry-Section A
Item No: 66
Question ID: 100466

Question Type: | MCQ

A, B, C, D QI6QI5 6711R@0 QIQI0¢ Q6ng Q10 SaiId QeSS |

(A) 3s2
2q 1
Question: (B) 38 3]3'
(C) 3s23p!
(D) 3s23p?
6ACIREQ gelel 2IeAFNeedR IANda A0 Qe 62a7 :
A: (A) <(B) < (O) < (D)




B: (B) < (&) < (D) <(C)
C: (B) < (D) < (A) < (C)
D: (B) < (&) < (©) < (D)
Topic: Chemistry-Section A
Item No: 67
Questi
Dot 100467
Question
T;pe:I MCQ
Question: | A 1 @@ eﬂﬁaﬁA ga-2 @ 9@ Eﬁ]"m B 420 daI9G! 696N | 9@ g9 1 6 A @ AR
AR6QAR, IBIRT 28 GI62EM B 6268 :
A: Mg
B: Be
C: Ca
D: Sr
Topic: Chemistry-Section A
Item No: 68
Question ID: | 100468
Questi
T;Ipees: ion MCQ
AC6q 900 AE Q2GR | 6AITY Q6B (A) 9&° AMER ARG (R) R @4INIRT |
_ Q6QID (A) : 691QR, BE~ 608 @94l 284 |
Question:
R4 (R): BQ AR A8 ga |
QU6 QF ARIQER AQOIG AWYS FRAR FF] @8] QAL :
A: @ad (A) 9<9° (R) 0%, (R), (A) @ 0% QIS |
B: @@ (A) 99° (R) OR, (R), (A) @ A0Q QU Q6% |
c (A) OR @g (R) R |
D: (A) 98 @3 (R) OR |




Topic: Chemistry-Section A
Item No: 69

Question ID: 100469

Question Type: | MCQ

Question: gﬁlﬁ@ @Al gIong QREEQ MnO, dEALNETEG @ K6Q |
A: S,05~
B: S,03~
C: SO5~
D: SO;~
Topic: Chemistry-Section A
Iltem No: 70
Question ID: 100470
Question Type: | MCQ
Question: Qe AIREQ QA FF FIRE AW IR 6PN ATlE YL :
A: Om - QUENYel gél 2N |
B: Om o- QR KA Qs anrg |
C: oM - Qe AR YA 2l |
D: Qﬁﬁﬁ* o- QR ¥R AFG! &l |
Topic: Chemistry-Section A
Item No: 71
Question
D: 100471
Question
Type: MCQ
G160 QR0 @8 FUIRE |
Q@ I: 3 AEITIQY TIPS 659 FTRe LRS! TG 99 QIo, T6Te QEMIGER
Question: QRTIQ 621R VAR |

@@ II: Q&R 2ReRIq QA A8e 41l 9 |
QUERAIB Q@ ARIAER AQOIG AWYR AW & REq AL :




A: e 0@ I9e° @@ II OR |
B: Qed 98 199° & II QR |
c: Q3 10@ &g @3 I e |

D: o8 19m @2 9@ 11 0 ) |
Topic: Chemistry-Section A

Item No: 72

Question ID: 100472

Question Type: | MCQ

FNNYE JORUER A Q@ Q96 6268 :
@)

Question:
NaOH
> A
R

M Qe
T 2l

Cl)H
R— C —CH,
H3C Br
?H
5 R—C—Ch;
CH,CH,
O




O

> )’I\/\/C)H
R

Topic: Chemistry-Section A

Item No: 73

Question ID: 100473

Question Type: | MCQ

&) 9Pa Qa6R g4l agle ‘B’ 6268 :

. Br, HI
Question: CHS —C=CH~— CHB » A » B
| CH;0H (8 2QUR)
CH,
HO Br
| |
A CH,—C — CH-CH,
|
CH,
I Br
||
|
CH,
Br OH
C: CHS—C — CH—CH3
|
CH3
Br I




Topic:

Chemistry-Section A

Item No:

74

Question ID:

100474

Question Type:

MCQ

QIR I @ 9@l IT 990 A :
QR 1

Qlaa! 11

cocl CHO
(A) # (I) QOANIR 6RIF YoOQ
(B) Ca-CN T ciy-cro () @EIS IR
Question: CH, CHO
Cro,Cl, S a8
(C) o () §eare 9oqel
CHO
CO, HA o
(D) @ o (IV) 696a98 9o
d0R QRAGY 77 Faeq QI :
A (A) - (IV), (B) - (I1D), (©) - (1), (D) - @)
B: (A) - (I), (B) - (1), (C) - (1), (D) - (IV)
C: (A) - (I, (B) - (I, (C) - (IV), (D) - ()
D: (A) - (Im), (B) - (ID), (C) - (D), (D) - (IV)
Topic: Chemistry-Section A

Iltem No:

75




Question ID:

100475

Question Type: | MCQ

QIR I @ QIR I 9ge ARl :

QR I QA II
(@LPR) (9RPR)
(A) @6Je 1) @6RRIAGTIAN
Question: R
(B) 69dma (II) eI
(C) Nalaliey (IIT) 6SGIEFIEARNCER
(D) 91969 L (IV) aRege
A0 @RQGq F¢ Feq Q9 :
A (A) - (IN), (B) - (ITI), (C) - (1), (D) - (IV)
B: (A) - ), (B) - (1), () - (1), (D) - (IV)
c: (A) - (1), (B) - (1), (C) - V), (D) - (11
D: (A) - (@), (B) - (II), (©) - (1), (D) - (IV)
Topic: Chemistry-Section A
Iltem No: 76
Question | 490476
Questi
T;Jpees: on MCQ
R 659 6dFf ‘A’ RIRETIERR 98° 6RRR UG RGN | 98 FREA ARV FRR AR IR
Q4 G QIZl ASAIY] AR 9REN | 6dIFe A @ @ FIeR SIR ATe AGAIAE YN 6d ‘A’ Q
Question: | ZIKFR GaQ 131+2 , 606GERER ‘A’ Q ¥R FIRQ #2919 NaOH 920 U9 @QIKN 99 099

aQie ARG 29 69926 N e @3 Cl q6% | dRae 99 J9t] ARG a¢), 98° J6Q J6Q
6TAR J80 AUGIQ F6M YR IR 2GR a9 | 61T ‘A’ 6208 :




+
NH,C1~

A: é
NH,
Cl
B:
+ —
CH, NH,Cl
C: l
+
NH,Cl~
D: é
Topic: Chemistry-Section A
Iltem No: 77
Question ID: 100477

Question Type: | MCQ




QIR I g QIR IT 93¢ Al :

QIR I Qlaa! II

(A) QeQIe + HI 1) QeIFx &g

Question: (B) ae@m + Br, @@ (1) r;]l:efala 6QINT60S!
(C) 5@@|9+ 696Q 9agiagiae (1) AR &)
(D) &‘;IE;QIQ+I—IN03 (IV) 6269%
alo] adé@@eg@a QREQ QL :

A (A) - (IV), (B) - (), (©) - (D), (D) - (1)

B: (A) - (IV), (B) - (I1D), (©) - (1), (D) - @)

C: (A) - (), (B) - (I), (©) - (IV), (D) - (IT)

D: (A) - (@), (B) - (ID), (©) - (IV), (D) - (1)

Topic: Chemistry-Section A

Item No: 78

Question ID: 100478

Question Type: | MCQ

Question: PINGE FrIG @9 ARAR 64l KA IR G ?
A: 6AGAC| F6AS

B: 6QIBAE| RE6RT

C: 6QAFPLL| CAURERS!

D: GIREAZTAT TFAETC,

Topic: Chemistry-Section A

Item No: 79

Question ID: 100479

Question MCQ

Type:




QIR I @ QAR IT Q@0 A :

QAR I Q@R 11
(Mixture) (Purification Process)
(A) eale@md 9Q° 9aaa (I) Q¥ dIew
Question: - -
(B) 6Q@iaq d¢ 9Q° QIdeiag () @F doR
(C) @@ 9Q° ARFRQ (II) AR
(D) QIRIRe 99° 6AIGYS 69IQAURL (IV) QIR Q4
A0Q. QG 77 IR8q QD :
A (A) - (@V), (B) - (I1D), (C) - (1), (D) - (II)
B: (A) - (), (B) - (1), (O) - (IV), (D) - ()
c: (A) - (), (B) - (IV), (©) - (1), (D) - ()
D: (A) - (D), (B) - (IV), (©) - (I), (D) - (II)
Topic: Chemistry-Section A
Iltem No: 80
Question | 190480
Questi
T;Ipees: on MCQ
Question: | Fe?* QIoI0@6a de1dar| 60r6qideinioe fAdinem e gaeia, Q1e 2Q6ad @ 9@ S08 6dlq :
A: [Fe(H,O).], [Fe(CN),]
B: Fe,[Fe(CN),],
C: Fe,[Fe(OH), (CN),],
D: Fe,[Fe(CN),];
Topic: Chemistry-Section B
Item No: 81
Question 100481

ID:




Question

Numeric Answer

Type:
Quest 100 mL @ 0.1 M H,SO, 9@¢ 50 mL @ 0.1 M NaOH fsiasn @246 H,50, @ #4Ia6 6208
uestion: - "
x10"1 N | (Faceq gaa-s)
Topic: Chemistry-Section B
Item No: 82
Question ID: | 100482
Question .
Type: Numeric Answer
25°C QIR ¥Q° QT QI (99 QIR) 62 Y@ QI9Q QIR QRITRRI FEIR 6998 2 | 694 NUYRGIR
Question: | G9UF b G @y 6231 @O x10=2L mol~1 | (Feees gdasur)
(@8 : R=0.083 L bar K~ 1mol 1)
Topic: Chemistry-Section B
Item No: 83
Qtfestion 100483
ID:
1Q_ue§tion Numeric Answer
ype:
e oiiq (67IMIa A1 280 g mol~1) @ &R O, 986 @ §a 2PeR RIAAFCA 6a LR
Question: | TSI NG° @26 ACAER QIR fcaa QIaaIgl 298.0 K g 298.45 K @ Q& diaal | &&@ Qa1
deea elauIel 2.5 kJK—1 9o quiga @27 9RInd 9 k] mol 1 99 cl626q g
MY eI |
Topic: Chemistry-Section B
Item No: 84
QL_Jestion 100484
ID:
Ques.tion Numeric Answer
Type:
25°C 6@ 100 g GR6Q ARAIGIQ R0% 9 A @ 2360 FAUUIRE IR 0aR 2¢ g6 dI9l | Y
Question: | QI¥ QIIQ 48 GFQ A I 0Ig ARUF ¥R F2ATR | 8 FPQ QY QI 6288 23.76 mmHg |
QAR A Q JaIgRel 67In (Faeef gPaa°sl) Q QS 6268 |
Topic: Chemistry-Section B
Item No: 85
Question ID: | 100485




Question

Numeric Answer

Type:
[A] — [B]
Joee Qe
Question: 6diGi@ [B] @ €106 gafl @¢ JoGL 2edad @6a e 70 AGe d6a [A] @ ALl YIRIFe Ko
2l 62IRCIRI | JERAIR Q19 Joum 6268 ¥ x10-6 51 | x @ Ry FRce gdaayl 69 62eE
|
Topic: Chemistry-Section B
Iltem No: 86
QL{estion 100486
ID:
?ues.tion Numeric Answer
ype:
FIAYE BQ flig g, deeURT, QIUING, FANARR, 627IFIRG, FCARIRAT, ARG,
Question: | C1YI6GIGIRG, UEAARNT, REFIFING, RABARS ZILAR MG IS 6R GG A 6208
|
Topic: Chemistry-Section B
Iltem No: 87
Question | 100487
Que§ti0n Numeric Answer
Type:
Question: U1dee] CRAIFIERS I° TIRCLIETR 6UCAFINRR AING ARIAR goqal 6dlg A2l A6
L AINERS |IQE 29El 6208 |
Topic: Chemistry-Section B
Iltem No: 88
Question ID: | 100488
?ues.tion Numeric Answer
ype:
FORNYS F1:IQ AFPRIY A°al 29l 8 (gee) @A 2Ige (99R) Q A6l 6268 :
Question:
NOj3 » H,O,, BE;, PCl,, XeF,, SF,, XeO,, pH;!F ,» SO,, [AI(OH),]™
Topic: Chemistry-Section B

Item No:

89




Question
ID:

100489

Question ,
Type: Numeric Answer
Question: | 6TAFT YAGER Y A'YRA 6@AR AR QARG A FRCRA YL 6Q B.M. 6Q 6263 |
Topic: Chemistry-Section B
Item No: 90
Question
D- 100490
_CI_)ue§tion Numeric Answer
ype:
CH, CHO
Question: @ @
o8

(92%)
QUERAB JEFUER 5 gm SRR, 92% QYR TG QUISAR 6LRT 6RRGIN LY | VYT
6RRRIN PLUNIR FlIGl 6298 Xx1072 g |




